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) — 0.756 = 75.6%

" 197

2.8
AP, = 2.8%* P = 100 * 138.888 * 103 = 3.889KW

3
100 * 3.889 * 10° = 2.94KW

-N'MIYN N'A7IN (120NN
AW = (AP, — AP,)  t = 103 * (3.889 — 2.94) * 5500 = 5219.5KWh
-n MY 9102 '9021 [120'NN
Cw, =AW *M +xn =5219.5%0.32 *xn = (1670.24 * n)m

-n MY 9102 NYpwNN NI7Y 1Y TN
0,

K% 13
CQn=b*QC<1+m*n)=65*45*(1+100*n)=[2925*(1+0.13*n)]r|11

95Ty D IV-[2 [IX-"Y 71 ANd)
.01V 2 [IINR NIXN 2ND2 NIWT K77 INW'7D 2100 MNoN win'y pwy" X7 .NNmy Nrnm ' ©



LW SROTIT- SRR SIpnn 0P

-nypynn 2TNN7 DIWN 190N 11vN

Cwy = Con
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